(P, L) - centinl (axiolk) collineahon o io one +hak hos M =m {or every line.
\ m with PIm & Q=Q, for e\uu\\j pont Q with GT L.

Ponk Ling,
(Could howe PIL or not -A%)

onte  you Know how @ (P, £) - Cendml collineadkion
moves 0 point you Know everJ’rkinj.

(. 2)- Desaraues' Than ™ Tf  AA', BR', CC are aud incident  with
P and ACNAC and BC n B'C are incident with £ +hon ABNA'R' 1s
also ncident with £.

o X

/ \\
Thm: Suppose. e (P, £)-Desurn guas Thm \nolds and X ¢V are poinfs not on £ and

collinear with P (but not eciuul 1o P). Then here is oo (P,2) -cenbul collineation
oL Sk, xX*=N

y,
(Readers Dicest wbbrevisked edition )
We  define ot 0 follows:
=P, Q" =0 for ait OLL, ond x*=Y.
T Wis o point not on £ or on He line XY, then W =PUAX"H where H=XWna L
We  can move Obver points on XY by |°°K"3 how some (L off that line moves
This defines how o octs on bhe ovints” of e plune .
) We  defined it o take points fo points.
@) Tt's || because = Yoy an inverse ~of has gn nverse keaose the definthion S
(3) Tt's onto because ... fevelsible . (& MoveS Y tox etC. )

How does « move lines?
Given . fine m, whak i m*’]
({ :7')?.\ T{ m# L, then do the {ollowins: le} R=ma £,

axis

let S#R be another Point on m



Then m*=RS"

% takes lines o lines (52, def'n) dis J-1 4 onto becuwse s invertible ...

For o to be o Collineahon We need 4o check Hak o presenes incidence.
\Nhﬁ’.’



